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	Intercept

	Conservatism
	
	Conservatism
squared

	
	
	b
	SE
	
	b
	SE

	Austria
	6.245
	-0.063
	0.018
	
	-0.003
	0.005

	Belgium
	6.300
	0.069
	0.019
	
	-0.025
	0.006

	Czech Republic
	5.911
	0.121
	0.016
	
	-0.022
	0.005

	Estonia
	5.463
	0.238
	0.019
	
	0.007
	0.005

	Finland
	6.738
	0.130
	0.018
	
	-0.002
	0.005

	France
	4.905
	-0.025
	0.015
	
	-0.021
	0.004

	Germany
	6.043
	0.032
	0.016
	
	-0.002
	0.005

	Hungary
	4.834
	0.315
	0.017
	
	0.005
	0.005

	Iceland
	5.590
	0.250
	0.024
	
	-0.006
	0.007

	Ireland
	5.403
	0.179
	0.016
	
	-0.014
	0.005

	Israel
	5.504
	0.104
	0.012
	
	-0.005
	0.003

	Italy
	4.912
	-0.082
	0.015
	
	-0.028
	0.004

	Lithuania
	4.859
	0.150
	0.020
	
	0.014
	0.006

	Netherlands
	6.426
	0.027
	0.020
	
	-0.021
	0.006

	Norway
	7.224
	-0.020
	0.018
	
	-0.004
	0.006

	Poland
	4.836
	0.227
	0.017
	
	0.008
	0.005

	Portugal
	4.900
	0.058
	0.019
	
	0.000
	0.005

	Russian Federation
	4.331
	0.161
	0.020
	
	-0.022
	0.005

	Slovenia
	4.626
	0.007
	0.020
	
	-0.003
	0.005

	Spain
	4.659
	0.299
	0.017
	
	-0.006
	0.005

	Sweden
	5.976
	0.010
	0.018
	
	-0.014
	0.005

	Switzerland
	7.293
	0.044
	0.019
	
	-0.017
	0.006

	United Kingdom
	5.539
	0.214
	0.019
	
	-0.008
	0.005





Measures used in Study 3
Ideological self-placement
When talking about politics, many people often use the labels “left” and “right”. Thinking about your political opinions, where would you place yourself on a scale from left to right?
	Left
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	Right




Ideological attitudes
1) Some people say that taxes should be reduced even at the cost of reducing public services. Others say that public services should be extended even if this would increase taxes. What is your opinion?

1 Reduce taxes even at the cost of reducing public services
7 Extend public service even if this would increase taxes

2) Some people think that the law should recognize new forms of household as common-law couples. Others think that the law should defend the traditional family model. What is your opinion?

1 The law should defend the traditional family model
7 The law should recognize new forms of household

3) The so-called Fiano’s law, which has been recently approved by the Chamber of Deputies, punishes anyone propagate the images or ideas of the Fascist party. Some say that the Fiano’s law should be immediately repealed. Others say that the Fiano’s law is absolutely just. What is your opinion?

1 The Fiano’s law should be immediately repealed
7 The Fiano’s law is absolutely just

4) Some people say that we must increase expenditure for security and army. Others say that these expenditures should be reduced. What is your opinion?

1 We should increase expenditure for security and army
7 We should reduce expenditure for security and army


5) Some people say that gay and lesbian couples should have the same rights as heterosexual couples. Other say that gay and lesbian couples should not have the same rights as heterosexual couples. What is your opinion?

1 Gay and lesbian couples should have the same rights as heterosexual couples
7 Gay and lesbian couples should not have the same rights as heterosexual couples


System justification scale (1 = completely disagree, 7 = completely agree) 
1) In general, I find our society to be fair.
2) In general, the Italian political system operates as it should.
3) Italian society needs to be radically restructured.
4) Italy is the best country in the world to live in.
5) Most policies in our nation serve the greater good.
6) In Italy, everyone has a fair shot at wealth and happiness.
7) Our society is getting worse every year.
8) Our society is set up so that people usually get what they deserve.



